





68/102 LC; LFA | 2-way cartridge valve

Control cover "GWMA" for set-up of a directional valve: NG80

01 02 03 o7 08 09 10 11 12 13 14 15

04 05 06
[LFalso[awma] - Tex[ / [ T [ | EIENER

06 07 08 09
Orifice in the channel (g in 1/10 mm)

A B P T

AR* B** pr THx

A orifice possible, if required, specifications have to be made
1) See "Ordering code for control cover type LFA..." page 14.
For ordering code of orifices, see page 95.

LFA 80 GWMA...
i 1T
| [
|
|
|
|
| I
!

MP HEEEHLS IR
X S 22
S

1 I Y
T I
! |
Xzl 20 ¥
B

Bosch Rexroth AG, RE 21010, edition: 2017-05



2-way cartridge valve | LC; LFA 69/102

Control cover "GWMA" for set-up of a directional valve: NG80
(dimensions in mm)

5
<
i
&
\ =
| Y
< <
o - .
o TS| ST
| S (o}
Ty A I«
A
o)
<
/
[
<
N~
vy 2
N
m.ﬂ
o
1
Y
10 || 27]
1 Name plate
2 Ports X, Y and Z2 optionally as threaded ports
3 Thread for orifice fitting B**
4 Thread for orifice fitting A**
5 Shuttle valve
6 Measuring port
7 Directional spool valve type 4WE 10 D... (pilot control valve),
separate order, see page 15
8 Directional seat valve type M-3SEW 10 ... (pilot control valve),
separate order, see page 15
9 Porting pattern according to ISO 4401-05-04-0-05 S Notice:
(mounting thread for version "/12" see data sheet 08936) The dimensions are nominal dimensions which are subject to
tolerances.

RE 21010, edition: 2017-05, Bosch Rexroth AG



70/102 LC; LFA | 2-way cartridge valve

Control cover "GWMA20" for set-up of a directional valve: NG16

01 02 03 o7 08 09 10 11 12 13 14 15

04 05 06
[LFaT16[ewmazo] - [7x] / I [ [ | EIENER

06 07 08 09
Orifice in the channel (g in 1/10 mm)

A B P T

AR* B** pr THx

A orifice possible, if required, specifications have to be made
1) See "Ordering code for control cover type LFA..." page 14.
For ordering code of orifices, see page 95.

LFA 16 GWMA20...

[P A1 By T

I I
Xt z1 720 Y

Bosch Rexroth AG, RE 21010, edition: 2017-05



2-way cartridge valve | LC; LFA  71/102

Control cover "GWMA20" for set-up of a directional valve: NG16
(dimensions in mm)

:————{'——-\_‘
T e
Ay

50

G1/4;22

14

36
G1/4;20

1 Name plate
2 Port X and Z1 with
check valve

Port Y and Z2 with
threaded connection

w

»

Directional spool valve
type 4WE 6 D... (pilot
control valve), separate
order, see page 15

65

40,5

5 Directional seat valve
type M-3SEW 6 ... (pilot
control valve), separate
order, see page 15

6 Porting pattern according
to I1ISO 4401-03-02-0-05
(mounting thread for

>t version "/12" see data

sheet 08936)

D@; Notice:

The dimensions are nominal dimensions which are subject to
tolerances.

RE 21010, edition: 2017-05, Bosch Rexroth AG



72/102 LC; LFA | 2-way cartridge valve

Control cover "GWMA20" for set-up of a directional valve: NG25 ... 40

01 02 03 o7 08 09 10 11 12 13 14 15

04 05 06
[LFa] Tewmazo] - [7x[/ B [ [ | EIENER

02 06 07 08 09
3 Orifice in the channel (& in 1/10 mm)
Size
A B P T
25 [32[40] A~ B** P T*

A orifice possible, if required, specifications have to be made
1) See "Ordering code for control cover type LFA..." page 14.
For ordering code of orifices, see page 95.

LFA . GWMA20... (NG25 ... 40)

[P A1 By T

I I
Xt z1 720 Y

Bosch Rexroth AG, RE 21010, edition: 2017-05



2-way cartridge valve | LC; LFA 73/102

Control cover "GWMA20" for set-up of a directional valve: NG25 ... 40
(dimensions in mm)

T
b
J :

.
=E
S

|
-

1 Name plate

2 Port X and Y with check valve

3 Directional spool valve type 4WE 6 D...
(pilot control valve), separate order, see
page 15

4 Directional seat valve type M-3SEW 6 ...
(pilot control valve), separate order, see
page 15

H3

YRE
|

H2
o

Porting pattern according to
' ISO 4401-03-02-0-05

< (mounting thread for version "/12" see
T data sheet 08936)
/
NG 25 32 40
H1 80 80 90
H2 20 20 30
H3 50 50 60
________ H4 23 27.5 315
T L1 85 100 125
— ||L"§\r|_H L2 64 71.5 84
_____ It LF%H# L3 85 100 125
||: ey L L4 27 34.5 47
|[r>i| L L5 52 60 73
gl L= L6 4 - -
T D1 G3/8 G3/8 G3/8
S oD2 23 23 23
T1 12 12 12
! T2 10 20
L2 T3 1 5
L3 L6
1<y Notice:

The dimensions are nominal dimensions which are subject to

tolerances.

RE 21010, edition: 2017-05, Bosch Rexroth AG



74/102 LC; LFA | 2-way cartridge valve

Control cover "GWMA20" for set-up of a directional valve: NG50 and 63

01 02 03 o7 08 09 10 11 12 13 14 15

04 05 06
[LFa] Tewmazo] - [7x[/ B [ [ | EIENER

02 06 o7 08 09
3 Orifice in the channel (& in 1/10 mm)
Size
A B P T
50 |63 A B** pr* T

A orifice possible, if required, specifications have to be made
1) See "Ordering code for control cover type LFA..." page 14.
For ordering code of orifices, see page 95.

LFA . GWMA20... (NG50 and 63)

%P** A1 B¥*I11 T111
/1 72
Xe o)
X /1 72 Y
B

Bosch Rexroth AG, RE 21010, edition: 2017-05



2-way cartridge valve | LC; LFA 75/102

Control cover "GWMA20" for set-up of a directional valve: NG50 and 63
(dimensions in mm)

5
N ~
AT '
ET =
A .
“ =1 |
e T
e N
— ~J R —
— a = N
T ] A2 )
= ot
=
y o)
<
T
NG 50 63
3 D1 G1/2 G1/2
D2 34 34
D3 M6 M8x1
0 H1 68 82
H2 40 48
‘ H3 35 63
H4 33 68
L1 140 180
L2 92 120.5
L3 140 180
—[T,_— , L4 80 99
I | —#Eﬂjrh' L5 60 81
Ay L6 80 80
Hi=JIN
| | [!'-F—'L*'J L7 90 90
3 Y L8 6 6
! 0 T1 14 14
T2 0.5 0.5
o | D)
L
/ : = -
T ' ]
Z2
3 1 =
D1;T1
@D2: T2 1 Name plate
L6 | 2 Port X and Z1 with check valve
L2 ' 3 Port Z2 and Y with threaded connection
8 | [ L3 . L8 4 Directional spool valve type 4WE 6 D... (pilot
e - control valve), separate order, see page 15
5 Directional seat valve type M-3SEW 6 ... (pilot
control valve), separate order, see page 15
& Notice: 6 Porting pattern according to

The dimensions are nominal dimensions which are subject to
tolerances.

1ISO 4401-03-02-0-05
(mounting thread for version "/12" see data
sheet 08936)

RE 21010, edition: 2017-05, Bosch Rexroth AG



76/102 LC; LFA | 2-way cartridge valve

Control cover "GWMA20" for set-up of a directional valve: NG80 and 100

01 02 03 o7 08 09 10 11 12 13 14 15

04 05 06
[LFa] Tewmazo] - [7x[/ B [ [ | EIENER

02 06 07 08 09
3 Orifice in the channel (J in 1/10 mm)
Size
A B P T
80 | 100 A** B** p** T**

A orifice possible, if required, specifications have to be made
1) See "Ordering code for control cover type LFA..." page 14.
For ordering code of orifices, see page 95.

LFA . GWMAZ20... (NG80 and 100)

%P** A1 B¥*I11 T111
/1 72
Xe o)
X /1 72 Y
B

Bosch Rexroth AG, RE 21010, edition: 2017-05



2-way cartridge valve | LC; LFA  77/102

Control cover "GWMA20" for set-up of a directional valve: NG80 and 100
(dimensions in mm)

N
)= 5
25 g
N Q
4 ®la \
T Y— A
— ] I I <
of i | | II
o |
I '
L3
@D3; T2
2 " oo 6 3
| 4
/
=t
1 ) 71(@
2 ®/ NG 80 100
’ ' ‘ D1 250 300
. : D2 G1/2 G1/2
!F_§©_ @Eél I— ‘ N D3 34 34
X | 41 i ‘h_ D4 M8 x 1 G1/8
' [ i
|.'H-' S S e U Y I i A H1 80 110
! o~
lEZQ;P- Fl—- o ' H2 25 30
y < H3 44 51.5
i H4 30 35
@ { L1 10 10
N @ | =\ L2 9 9
1T 4xD4 L3 6 6
L1 , T1 14 14
3 T2 3 3
D2;T1 !
@D3; T2
L1 31
1 Name plate
2 Port X and Z1 with check valve
3 Port Y and Z2 with threaded connection
4 Directional spool valve type 4WE 10 D... (pilot control valve),
separate order, see page 15
5 Directional seat valve type M-3SEW 10 ... (pilot control valve),
[FE~ Notice: separate order, see page 15
The dimensions are nominal dimensions which are subject to 6 Porting pattern according to ISO 4401-05-04-0-05
tolerances. (mounting thread for version "/12" see data sheet 08936)

RE 21010, edition: 2017-05, Bosch Rexroth AG



78/102 LC; LFA | 2-way cartridge valve

Control cover "KWA" and "KWB" for set-up of a directional valve: NG16 ...

01 02 03 04 05 06 07 08 09 10 11 12 13 14 15
[bra] T T-ToxI/B T DI D<K ElIEREN
02 03 06 07 08 09 10
3 Orifice in the channel (g in 1/10 mm)
Size Type
A P T X
16 P15 T** X15
25 P15 T** 2.0
32 KWA P20 T** @2.5
40 P20 T** X30
50 P20 T** X30
16 P15 T** X15
25 P15 T** 2.0
32 KWB P20 T** 2.5
40 P20 T** X30
50 P20 T** X30
A orifice possible, if required, specifications have to be made
A Orifice bored (@ in mm) (does not appear in the type designation)
A standard orifice (@ in 1/10 mm) (does not appear in the type designation)
1) See "Ordering code for control cover type LFA..." page 14.
For ordering code of orifices, see page 95.
LFA . KWA... (NG16 ... 32) LFA . KWB... (NG16 ... 32)
| I e
[ (]
! !
P. QD T A P. QD T [11B**
T 2T
Q" Q"
Xz Y ) 4 Y
B B
\A%/ \P%/
LFA . KWA... (NG40 and 50) LFA . KWB... (NG40 and 50)
I |
[ [
| |
P. ™ A P. ™ B**
71 QD I 71 QD I Il
oT ' ot
QDX.. QDX
Z1 Y ) 4 Y

| w

Bosch Rexroth AG, RE 21010, edition: 2017-05

50




2-way cartridge valve | LC; LFA  79/102

Control cover "KWA" and "KWB" for set-up of a directional valve: NG16 ... 50
(dimensions in mm)

6 M6 8

L6

5 t= =~ 2 10
1 Name plate at NG16, 25 and 32 NG 16 25 32 40 50
2 Name plate at NG40 and 50 D1 - - - G1/2 G1/2
3 PortsYand Z1 H1 40 40 50 60 68
optionally as threaded ports at NG40 and 50 H2 17 17 21.5 30 32
4 Plug screw type KWB H3 15 24 28 32 34
5 Plug screw type KWA H4 - - - 30 32
6 Shuttle valve H5 - - - 30 50
7 M6 at NG16 and 40, M8 x 1 at NG50 L1 65 85 100 125 140
8 Directional spool valve type 4WE 6 D... (pilot control valve), L2 80 85 100 125 140
separate order, see page 15 L3 36.5 45.5 50 62.5 79
9 Directional seat valve type M-3SEW 6 ... (pilot control valve), L4 _ _ _ 53 60
separate order, see page 15 L5 17 27 345 47 545
10 Porting pattern according to 1ISO 4401-03-02-0-05 (mounting
thread for version "/12" see data sheet 08936) L6 47.5 64 715 84 91.5
L7 - - - 62.5 70
L8 4 4 4 6 6
1< Notice:
The dimensions are nominal dimensions which are subject to
tolerances.

RE 21010, edition: 2017-05, Bosch Rexroth AG



80/102 LC; LFA | 2-way cartridge valve

Control cover "KWA" and "KWB" for set-up of a directional valve: NG63

01 02 03 04 05 06 07 08 09 10 11
[Lrafes] [-Tex[ /[ [ <] |
03 06 07 08 09 10
Orifice in the channel (& in 1/10 mm)
Type
P T X
P25 T** X**
P25 T** X**

A orifice possible, if required, specifications have to be made

A standard orifice (2 in 1/10 mm) (does not appear in the type designation)

1) See "Ordering code for control cover type LFA..." page 14.
For ordering code of orifices, see page 95.

LFA 63 KWA...
S —— [
| | |
L
71 QD P25 IilA** T
| ﬁ%
- —I_ -
Il
| |
Xi zn Y!
B

Bosch Rexroth AG, RE 21010, edition: 2017-05

12 13 14 15
LFA 63 KWB...
I l
o,
P25 X BT
2, o |
[ ﬁu oV
X** I
Il !
| |
Xz Y!




2-way cartridge valve | LC; LFA 81/102

Control cover "KWA" and "KWB" for set-up of a directional valve: NG63
(dimensions in mm)

T T

B ! u_”,'A

b

82
=T
b
//%;}/\’_
=<
b

E
G1/2; 14

50

180

1 Name plate

Ports Y and Z1 optionally as threaded
ports

Plug screw M8 x 1 at type KWB
Plug screw M8 x 1 at type KWA
Shuttle valve

90
69
101
N

8 17 1

o o b~ W

Directional spool valve
type 4WE 10 D... (pilot control valve),
separate order, see page 15

7 Directional seat valve
type M-3SEW 10 ... (pilot control
valve), separate order, see page 15
8 Porting pattern according to
&~ Notice: ISO 4401-05-04-0-05

The dimensions are nominal dimensions which are subject to (mounting thread for version "/12"
tolerances. see data sheet 08936)

RE 21010, edition: 2017-05, Bosch Rexroth AG



82/102 LC; LFA | 2-way cartridge valve

Control cover "KWA" and "KWB" for set-up of a directional valve: NG80 ... 100

01 02 083

04 05 06 07 08 09 10 11 12 13 14 15
[wea]l T [-Tex[/F [ DI < EIENER

03 06 o7 08 09 10
. Orifice in the channel (& in 1/10 mm)
Size Type
A P T X
P25 T** X20
80 100
P25 T** X20

A orifice possible, if required, specifications have to be made

A standard orifice (@ in 1/10 mm) (does not appear in the type designation)

1) See "Ordering code for control cover type LFA..." page 14.
For ordering code of orifices, see page 95.

LFA . KWA... (NG8O0 ... 100)

() P25 RS

o] {
< ﬁ%
»X20 5
B
A

N
-

155

<=

o___
N
-

Bosch Rexroth AG, RE 21010, edition: 2017-05

LFA . KWB... (NG80 ... 100)

",k
21 P25 G T
b | N >
| I
Xz y!
|
1 B
A



2-way cartridge valve | LC; LFA 83/102

Control cover "KWA" and "KWB" for set-up of a directional valve: NG80 ... 100
(dimensions in mm)

G1/2;14 G3/8 g e .

3
&N
g Y
<
s
| 8 <r“
1 T
Y
2
M8 x 1
3
A
| B
o
A
M8 x 1
NG 80 100
4 M8x1 — Y D1 250 300
H1 100 110
27
- - H2 19.5 27
- . H3 45 52.5
1 H4 60 70
H5 52 62
1 Name plate 7 Directional seat valve L1 55 62
2 PortsY and Z1 optionally as threaded type M-3SEW 10 ... (pilot control L3 6.5
ports valve), separate order, see page 15 L6 6.5
3 Plug screw for type KWB 8 Porting pattern according to
1ISO 4401-05-04-0-05
4 Pl for t KWA
ug screw for type (mounting thread for version "/12"
5 Shuttle valve see data sheet 08936)
6 Directional spool valve 1=y Notice:
type 4WE 10 D... (pilot control valve), The dimensions are nominal dimensions
separate order, see page 15 which are subject to tolerances.

RE 21010, edition: 2017-05, Bosch Rexroth AG



84/102 LC; LFA | 2-way cartridge valve

Control cover "KWMA" for set-up of a directional valve: NG16 ... 32

01 02 03 o7 08 09 10 11 12 13 14 15

04 05 06
[LPA] Twkwmal-Tox] /[ [ [ T 1] EIEIEN

02 06 o7 08 09 10
3 Orifice in the channel (J in 1/10 mm)

Size A B P T X
16 AF* B** P15 T** X15
25 A** B** p** T** 2.0
32 A B** pr* T** 22.5

A orifice possible, if required, specifications have to be made
1) See "Ordering code for control cover type LFA..." page 14.
For ordering code of orifices, see page 95.

LFA 16 KWMA... LFA . KWMA... (NG25 and 32)
T e
! !
P15 T A 1B P T AT B
Ammane A
j)X15 (..
Xl 71 72 Y A 72 Y
B B

Bosch Rexroth AG, RE 21010, edition: 2017-05




2-way cartridge valve | LC; LFA 85/102

Control cover "KWMA" for set-up of a directional valve: NG16 ... 32
(dimensions in mm)

L5
5

1 Name plate NG 16 25 32
Shuttle valve H1 40 40 50
Directional spool valve type 4WE 6 D... (pilot control valve), H2 17 17 21.5
separate order, see page 1& H3 14 23 27.5
4 Directional seat valve type M-3SEW 6 ... (pilot control valve), L1 65 85 100
5 ISDeparalte S nge . ISO 4401-03-02-0-05 L2 80 i 100

orting pattern according to -03-02-0-

(mounting thread for version "/12" see data sheet 08936) L3 365 455 50
L4 17 27 34.5
L5 47.5 64 71.5

L6 4 4 4

1<y Notice:

The dimensions are nominal dimensions which are subject to
tolerances.

RE 21010, edition: 2017-05, Bosch Rexroth AG



86/102 LC; LFA | 2-way cartridge valve

Control cover "KWMA" for set-up of a directional valve: NG40 ... 63

01 02 03 o7 08 09 10 11 12 13 14 15

04 05 06
[LPA] Twkwmal-Tox] /[ [ [ T 1] EIEIEN

02 06 o7 08 09 10
3 Orifice in the channel (J in 1/10 mm)
Size
A B P T X
40 A** B** P20 T** X30
50 A*F* B** P20 T** X30
63 A B** P25 T** X+

A orifice possible, if required, specifications have to be made
1) See "Ordering code for control cover type LFA..." page 14.
For ordering code of orifices, see page 95.

LFA . KWMA... (NG40 and 50) LFA 63 KWMA...
r r
[ B N
! !
71 PQD T I A® B 71 P25 )D ™I IA* 111B*
| ~ 72 A a4 | . 72
)@ o) @x oY
X1 71 720 Y X 71 727 Y
B B

Bosch Rexroth AG, RE 21010, edition: 2017-05



2-way cartridge valve | LC; LFA 87/102

Control cover "KWMA" for set-up of a directional valve: NG40 ... 63
(dimensions in mm)

_ .
Uiy
=2 SR /I_j —I
2l B R
= gf R I N (= N E
\ o /AR \\Y (e
™ 9 ! ey
T i [S)
L7 || L8
2 @D2;T2
D1;T1
©
—
4xD3
~—
i ;]
' i
o
- <
0| —
—
* y y
[o¢] .
b 5 D1;T1 | 1
o02;712 | |
L9
L6
1 Name plate NG 40 50 63
Shuttle valve D1 G1/2 G1/2 G1/2
Directional spool valve (pilot control valve) @D2 34 34 34
» NG40 and 50: Type 4WE 6 D... D3 M6 M6 M8
» NG63: Type 4WE 10 D..., H1 60 68 82
separate order, see page 15
4 Directional seat valve (pilot control valve) H2 30 31 42
» NG40 and 50: Type M-3SEW 6 ... H3 31.5 33.5 49
» NG63: Type M-3SEW 10 ..., H4 41 45 60
separate order, see page 15 H5 30 50 28
5 Porting pattern according to ISO 4401-03-02-0-05 (NG40 and L1 125 140 180
50) or ISO 4401-05-04-0-05 (NG63)
L2 125 140 180
(mounting thread for version "/12" see data sheet 08936)
L3 62.5 72 90
L4 53 60 101
L5 a7 54.5 68.5
L6 84 91.5 117
L7 4 6 5
L8 6 6 6
" Notice: T 14 14 14
The dimensions are nominal dimensions which are subject to
tolerances. T2 1 1 1

RE 21010, edition: 2017-05, Bosch Rexroth AG



88/102 LC; LFA | 2-way cartridge valve

Control cover "KWMA" for set-up of a directional valve: NG80 and 100

01 02 03 o7 08 09 10 11 12 13 14 15

04 05 06
[LPA] Twkwmal-Tox] /[ [ [ T 1] EIEIEN

02 06 07 08 09 10
X Orifice in the channel (J in 1/10 mm)

Size A B P T X

80 100 A** B** P25 T** X20

A orifice possible, if required, specifications have to be made
1) See "Ordering code for control cover type LFA..." page 14.
For ordering code of orifices, see page 95.

LFA . KWMA... (NG80 and 100)

71 P25 @D T IA™ 1iB*

o} =

Y

@ *
X20

Bosch Rexroth AG, RE 21010, edition: 2017-05



2-way cartridge valve | LC; LFA 89/102

Control cover "KWMA" for set-up of a directional valve: NG80 and 100
(dimensions in mm)

L -
et -
il | wB AL _____}:JU o
& & 1|l T e — e — e — o — -
S| s Y al®
o' 4 '
- —
T LIS
; T
s
T
™
T
L7 N L7
e 13 2 -
@D2;T1
|| | D312
—» | ~
—
3 I|"_-| 6
o 7 g
B~ | N
i 6 .
3 ~ | .
F3"_|‘" Z3) S
1 I B___i_*b_ _ YiEn =
1 3L X + e i ¥ = NG 80 100
~ T Vo
— : Lr L
: \ -@i"\_ 7S AP \ D1 250 300
. D2 34 34
N j D3 G1/2 G1/2
1 N - ! > M8x 1 D4 M8 x 1 G1/8
4-+-«G’ H1 100 110
L.Y79
r: H2 40 50
D3; T2 ~ H3 44 51.5
H4 19.5 27
o02;71 | |l L - S
L1 L5
- L1 8 8
L2 6.5 5
L3 6.5 6
L4 31 31
1 Name plate L5 27 27
2 Port X and Y optionally as threaded ports L6 55 62
3 Shuttle valve L7 3 3
4 Directional spool valve type 4WE 10 D... (pilot control valve), T 14 14
[~
separate order, see page 15 T2 4 3
5 Directional seat valve type M-3SEW 10 ... (pilot control valve),
separate order, see page 15
6 Porting pattern according to ISO 4401-05-04-0-05 D@Q Notice:
(mounting thread for version "/12" see data sheet 08936) The dimensions are nominal dimensions which are subject to
tolerances.

RE 21010, edition: 2017-05, Bosch Rexroth AG



90/102 LC; LFA | 2-way cartridge valve

Control cover "HWMA." and "HWMB." for set-up of a directional valve: NG16 ... 40

04 o5 06 oO7 08 09 10 11 12 13 14 15 16 17 18 19
| [- [ox]/ I | B Eo[o[v]

01 02 03
[ LFA |
02 03 12 13 15
Size Type

e P T F
16 HWMA1 P** T** F**
25 HWMA2 P** T'k* F*'k
32 HWMB1 p** TH* =
40 HWMBZ P** T'k* F*'k

A orifice possible, if required, specifications have to be made
1) See "Ordering code for control cover type LFA..." page 14.
For ordering code of orifices, see page 95.

LFA . HWMA... (NG16 ... 40)

1P

F=111

Bosch Rexroth AG, RE 21010, edition: 2017-05

LFA . HWMB... (NG16 ... 40)

I11P™

p-———— |

=111

™10

72




2-way cartridge valve | LC; LFA 91/102

Control cover "HWMA." and "HWMB." for set-up of a directional valve: NG16 ... 40
(dimensions in mm)

Version "HWM.1"

Version "HWM.2"

@D3 NG16 and 25 NG32 and 40
SW1
SW2
= SW2
b L L2
:—+-H|¢
4 R
\\:\ iﬁ.
BEERT
4 oo
| I b of
' ' Ty
2
i
—
O
NG 16 25 32 40
oD3 52 80 80 100
H1 90 90 100 95
H2 21.5 21.5 31.5 19.5
H3 15 24 28 32
& H4 max 145 145 145 160
H5 max 131 130 125 146
1 Name plate at NG16, 25, 32 H6 max 100 95 - -
Name plate at NG40 0oLt 65 85 100 125
Directional spool valve type 4WE 6 D... (pilot control valve), L2 17 27 34.5 57
separate order, see page 15 SW11) 6 6 10 17
4 Porting pattern according to ISO 4401-03-02-0-05 SW2 21 29 27 46

(mounting thread for version "/12" see data sheet 08936)

1 Internal hexagon

Mounting screws included within the scope of delivery
(see also page 95).

1= Notice:

The dimensions are nominal dimensions which are subject to
tolerances.

RE 21010, edition: 2017-05, Bosch Rexroth AG



92/102 LC; LFA | 2-way cartridge valve

Control cover "HWMA." and "HWMB." for set-up of a directional valve: NG50 and 63

04 o5 06 oO7 08 09 10 11 12 13 14 15 16 17 18 19
| [- [ox]/ I | B Eo[o[v]

01 02 03
[ LFA |
02 03 12 13 15
Size Type
e P T F
50 HWMA1 p** THx Frx
HWMA2
HWMB1 pr N N
63 HWMB2 T F

A orifice possible, if required, specifications have to be made
1) See "Ordering code for control cover type LFA..." page 14.
For ordering code of orifices, see page 95.

LFA . HWMA... (NG50 and 63)

1P

F=111

Bosch Rexroth AG, RE 21010, edition: 2017-05

LFA . HWMB... (NG50 and 63)

I11P™

p-———— |

=111

™

72




2-way cartridge valve | LC; LFA 93/102

Control cover "HWMA." and "HWMB." for set-up of a directional valve: NG50 and 63
(dimensions in mm)

Version "HWM.1"
@250 Version "HWM.2"

i
P
\_/

1

i

a1 1

T Sw1

.

SW2 r SW5 swo2 |/
) < o Y
53 S AE L;'—': &

T

P /

+

T
H1

+

+_

-?T
H1
H4 max

%
B

e
%

N

™

T
1 Name plate NG 50 63
2 Directional spool valve (pilot control valve) H1i 110 125
» NG50: Type 4WE 6 D... H2 34.5 18

» NG63: Type 4WE 10 D...,

separate order, see page 15 H3 34 50
3 Porting pattern according to ISO 4401-03-02-0-05 (NG50) or H4 max 156 175
ISO 4401-05-04-0-05 (NG63) H5 max 230 250
(mounting thread for version "/12" see data sheet 08936) 0Lt 140 180
L2 68 55
Swi1) 17 22
sw2 55 65
SW5 46 55

Mounting screws included within the scope of delivery

1)
(see also page 95). Internal hexagon

1=y Notice:

The dimensions are nominal dimensions which are subject to
tolerances.

RE 21010, edition: 2017-05, Bosch Rexroth AG



94/102 LC; LFA | 2-way cartridge valve

Intermediate cover "D19" for installation kit with increased spring installation space and spool

sealing (upon request)

01 02 03
[LFA| |p19] -

02
Size
16 [ 25 | 32| 40 | 50 | 63

1) See "Ordering code for control cover type LFA..." page 14.

[EE~ Notice:

Larger spring installation space (see type LC.../-004 and
LC.../-146 page 97)

LFA . D19...

04 05 06 07 08 09 10 11 12 13 14 15
[7xT/

13,

OL1
%

\_l_/
!
NG 16 25 32 40 50 63
@D1 24.9 34.5 44.6 71 86 114
D2 8.5 18.2 23.3 32 42 50
0Ll 65 85 100 125 140 180
L2 2 2 2.7 2.7 4.3 4.3
L3 25 25 30 30 40 60

Mounting screws: Intermediate cover with control cover (separate order)

NG Control cover Hexagon socket head cap screws I1SO 4762 - 10.9-flZn/nc/480h/C
type LFA Quantity Dimension Material number Tightening torque M,
in Nm +£10%
WE., GW. M8 x 70 R913014548
16 WEM., GWMA 4 M8 x 95 R913015806 30
1) M8 x 65 R913014761
25 1 4 M12 x 75 R913014791 100
H1, H2 M16 x 110 R913015642
32 H3, H4 4 M16 x 100 R913015640 240
1) M16 x 90 R913014712
H1, H2 M20 x 140 R913015675
40 4 480
1) M20 x 100 R913015670
H2, H4 M20 x 160 R913015677
50 4 480
1) M20 x 120 R913015672
H2, H4 M30 x 210 R913015754
63 4 1600
1) M30 x 160 R913015749

1) More available series control covers

Bosch Rexroth AG, RE 21010, edition: 2017-05



2-way cartridge valve | LC; LFA 95/102

Mounting screws control cover LFA (included in the scope of delivery)

Hexagon socket head cap screws ISO 4762 - 10.9-flZn/nc/480h/C 1)

[FZ~ Notice:

» The tightening torques stated are guidelines when using

screws with the specified friction coefficients and when using

a manual torque wrench (tolerance + 10%).

» The specified tightening torques were calculated with total

friction coefficient g = 0.09 ... 0.14; adjust in case of modified
surfaces.

» Supplied mounting screws are only suitable for direct

assembly on a block. If an intermediate cover is used,

mounting screws have to be designed accordingly longer

(see page 94).

Size Quantity Tightening torque M, in Nm +10%
16 4 30
25 4 100
32 4 240
40 4 480
50 4 480
63 4 1600
80 8 800
100 8 1600
125 8 3100
160 12 5000

1) Hexagon socket head cap screws UNC, see data sheet 089366

Characteristic curves for selecting orifices

Pressure differential in bar —

Orifice @ in mm (Possible orifice @ dependent on the
thread dimension)
05 060708 1012 15182025 3,0

400
300 35
200 oSS S S S S 4,0
V4 y 4 V4 'I i/ y 4
- /T A y, 1/ 5,0
50 2T/ 7 /7 7 7 yAaw
V4 V4 V4 V4
40 V4 ~ v 4 >4 V4 y II I, > 4 60
30 7717 Y. 4 '
20 7 7 17 1/ AD4 V17 4
Yy /I YV Y A/ V] / y.4
y, 4 A A 4 7 71T/ 1/
7 7 /17 4 ARV, A VANV 8.0
10 V4 V4 I, II 4 I, ~ ’
y 4 y 4 Ve V4 y 4
5 y4 y4 y4 V4 VAW, y4 A
7 1/ A7 7 7
1 VAVAD / VAAVN7AV aRY, V4
: V.00 AV AV AV VAW AV
YAV 4 AN NN/ AN AN a4
14 717 77 Y80 AN AN
o VA4V Y. A y 474V AAIVARVAN)
VT 2/ /17 7 A y,
u VA AY.AV N .VAVS.Y.9 AV 4
025 VAVARANW 4 / LY 11/
0,05 0,1 0,2 0,5 2 3 45 10 15 20 30 40 50 100

Flow in I/min —

RE 21010, edition: 2017-05, Bosch Rexroth AG



96/102 LC; LFA | 2-way cartridge valve

Orifices and plug screws

Orifices
Orifice @ Order numbers Material numbers
in mm M6 conical | M8x1 conical | G 1/8 conical | G 1/4 conical | G 3/8 conical | G 1/2 conical | G 1 conical
— 00 — — — — — — —
0.5 05 R913040356 | R913017600 | R913030187 | R913040456 - - -
0.6 06 R913040358 | R913017605 | R913017606 | R913020197 - - -
0.7 07 R913040360 | R913017609 | R913046092 - - - -
0.8 08 R913029447 | R913017614 | R913017616 | R913017615 | R913040481 | R913040499 -
1.0 10 R913019186 | R913017621 | R913024679 | R913017622 | R913040484 | R913040500 -
1.2 12 R913040362 | R913017627 | R913017629 | R913017628 | R913040486 | R913040501 -
1.5 15 R913028337 | R913017637 | R913017639 | R913017638 | R913040488 | R913028317 -
1.8 18 R913030186 | R913017644 | R913017646 | R913017645 | R913040489 | R913045913 -
2.0 20 R913029870 | R913017651 | R913040450 | R913017652 | R913028417 | R913028336 -
2.5 25 R913032543 | R913035796 | R913017656 | R913019582 | R913040493 | R913040502 -
3.0 30 R913040368 | R913017661 | R913017663 | R913017662 | R913018266 | R913040503 | R913040467
3.5 35 - R913017667 | R913040452 | R913040463 | R913028318 | R913019856 | R913040469
4.0 40 - R913017670 | R913027078 | R913040464 | R913018265 | R913029168 | R913040470
4.5 45 - R913046571 | R913017671 | R913040465 - R913040506 -
5.0 50 - - R913017673 | R913040468 | R913023871 | R913019857 | R913040471
5.5 55 - - R913027077 - R913040495 | R913053659 -
6.0 60 - - - - R913023870 | R913028418 | R913020247
7.0 70 - - - R913040461 | R913017675 | R913040509 -
7.5 75 - - - - R913023430 - R913018328
8.0 80 - - - - R913046570 | R913040510 | R913020246
closed 929 R913019128 | R913019129 | R913019137 | R913019136 | R913019138 - R913019140

Plug screws

Thread Tightening torque M, in Nm £10%
G1/8 12
G1/4 30
G3/8 55
G1/2 80
G3/4 135
G1 225
G11/4 360

Bosch Rexroth AG, RE 21010, edition: 2017-05



2-way cartridge valve | LC; LFA

Additional functions with special numbers: Cartridge valve (upon request)

97/102

Symbol Type (examples) Size Description/special characteristic
LC . A..D7X/-004 16 ... 50 » With spool sealing (leakage-free)
— LC . A..E7X/-004 16 ... 50 » Larger spring installation space
LC . B..E7X/-004 16 ... 63 » Special cover or intermediate cover "D19" required
» NG16 ... 40: only with cracking pressure approx. 4 bar
" - » NG50 and 63: cracking pressure approx. 2 bar or higher;
B_ alternatively "without spring"
hd
. LC . A..D6X/-104 80, 100 » With spool sealing (leakage-free),
LC . A..E6X/-104 80, 100 » as SO-004, however, no special cover required
B . | LC . B..E6X/-104 80, 100
— LC.A..D7X/-104 40 ... 63
V LC.A..E7X/-104 40 ... 63
A LC . A..E2X/-104 125, 160
LC . AO5D6X/-054 16 » Pulling logic with open zero position
LC . A20D6X/-054 25...32 » Special cover (e.g. "D54") required
B LC . AOSE6X/-054 16
— LC . A..E6X/-054 25...80
LC ./100 A20E6X/-054 | 32, 100
A LC . BO5E6X/-054 12
LC . B20E6X/-054 25
LC . A20D7X/-054 50
LC . A40D7X/-054 63
LC . A20E7X/-054 50
LC . A..E7X/-054 63
LC ...7X/-135 16 ... 40 » Larger spool clearance
B_ —|—
hd
LC ...7X/-146 16 ... 40 » Larger spool clearance
- » With spool sealing (leakage-free)
» Larger spring installation space
» Special cover or intermediate cover "D19" required
N d—
B
hd
LC . A..D7X/-R10 16 » As standard, however, outer bushing diameter D1 and D4
LC . A20D7X/-R10 25 1 mm larger (repair kit).
B LC 1. AAOE7X/-R10 16, 32
— LC . A..E7X/-R10 25,63
\%/ LC . A10E7X/-R10 40
A LC . AOSE7X/-R10 50
LC . B..D7X/-R10 25
LC . B10D7X/-R10 32
LC . B40E7X/-R10 25, 40
LC . B..E7X/-R10 50, 63
LC . A..D7X/-R20 16 » As standard, however, outer bushing diameter D1 and D4
LC . A20D7X/-R20 25 2 mm larger (repair kit).
B LC 1. AAOE7X/-R20 16, 32
— LC . A..E7X/-R20 25, 63
\?/ LC . A10E7X/-R20 40
A LC . AOSE7X/-R20 50
LC . B..D7X/-R20 25
LC . B10D7X/-R20 32
LC . B40E7X/-R20 25,40
LC . B..E7X/-R20 50, 63

RE 21010, edition: 2017-05, Bosch Rexroth AG



98/102 LC; LFA | 2-way cartridge valve

Additional functions with special numbers: Cartridge valve (upon request)

Symbol Type (examples) Size Description/special characteristic
X! LC . XABOOE-7X/ 16 ... 63 » Blind element without spool
] » Channel A - B connected
» For use with available LFA cover, or in connection with a cover
B "LFA . D-7X/FX99"
A
X LC . XAFOOE-7X/ 16 ... 63 » Blind element without spool
] » Channel A - F connected
» Channel B closed
B » For use with available LFA cover, or in connection with a cover
— "LFA . D-7X/FX99"
A
)({ LC . XOOE-7X/ 16 ... 63 » Blind element without spool
» All channels blocked
» For use with available LFA cover, or in connection with a cover
5 "LFA . D-7X/FX99"
A

Bosch Rexroth AG, RE 21010, edition: 2017-05



2-way cartridge valve | LC; LFA  99/102

Additional functions with special numbers: Control cover (upon request)

Symbol Type Size Description/special characteristic
LFA . D9-7X/... 16 ... 63 » Cap, blind cover
XT z4[ 221 Y[
Bl
A
LFA . D10-7X/... 16 ... 63 » Cap, blind cover
XT zi[ 2T YT
B
A
i i LFA . D49-7X/... 16 ... 40 » Spacer cover
: : » Suitable for producing a measuring
| | plate
1 I
X 1 72 Y
X LFA . D54-6X/F 16 ... 50 » Cover for logic zero position open
) LFA . D54-7X/F 50 (pulling logic)
I
X
LFA...H.../FDR... 40 ... 80 » Stroke limitation cover for pressure
logics
X
|
I
X
LFA . H2-14-7X/F 16 » Cover for use with spool sealing
(type LC.../-004, LC.../-146)
» Intermediate cover "D19" required
. 4 = |
| I
]
Xi
/ | LFA. H2-18-7X/F 16 ... 63 » Stroke limitation with sealing
5 4 = |
| I
]
Xi
LFA . R3-7X/... 25...63 A 6
LFA . RF3-7X/... » Area ratio: —_— = —
\ Ax 1
- Jox | ¢
X 212 i i
- i I
@ R
I
X Z1 Y3)
I
B Li

RE 21010, edition: 2017-05, Bosch Rexroth AG



100/102 LC; LFA | 2-way cartridge valve

Additional functions with special numbers: Control cover (upon request)

Symbol Type Size Description/special characteristic
LFA . GWA11-7X/... 16 ... 63 » Spring chamber additionally on "Z2"
PT
|
|
[6e S o
N
Xi Z1 Z2 Y
_________ LFA . GWA21-7X/... 32 ...100 » 3 check valves
T LFA . GWA21-6X/...
| o
v — 2oL
!
® © O
*
>
<>
Yo7
@
72 Y
___________ LFA . WEA16-7X/... 25, 30 » Additional external ports X and Y (G1/4)
I
T
ol
ol
X Y
-9 =
X Y
__________ . LFA . WEA54-7X/... |32,50, 63 » Cover for logic zero position open
| T LFA . WEA54-6X/... 25 ... 50 » NG25: identical version with type WEA
! LFA . WEMA54-6X/... | 25 and WEMA
ol
ol
YN Y
o ) -
X Y
_____________ B LFA . KWA3-7X/... 32...63
T
|
.
Z1 Z
' M
| P
A !
|
]
) (A 220 Y

Bosch Rexroth AG, RE 21010, edition: 2017-05



2-way cartridge valve | LC; LFA 101/102

Additional functions with special numbers: Control cover (upon request)

Symbol Type Size Description/special characteristic
____________ LFA . KWA7-7X//... 40 ...63 » As "KWA", spring chamber additionally
P on 179"
o
_______ I
L
z1 ® Y
k————— * | ol | | o
Z2
¢ *
® ®
X 21 22 Y

Further information

vV VvV VvV VvV VYV VvV VvV VvV VvV VvV VvV VY

2-way cartridge valve pressure functions

2-way cartridge valves with spool position monitoring
2-way cartridge valve, actively controllable, type LC2A
Directional spool valves type WE 6

Directional spool valve type WE 10

Directional spool valve type WEH

Directional seat valve type SEW 6

Directional seat valve type SEW 10

Directional seat valve type SED 6

Directional seat valve type SED 10

Cover plates type HSA

Sandwich plates type HSZ

Hydraulic fluids on mineral oil basis

Reliability characteristics according to EN ISO 13849
Hexagon socket head cap screw, metric/UNC
Hydraulic valves for industrial applications

Selection of the filters

Data sheet 21050
Data sheet 21015
Data sheet 21040
Data sheet 23178
Data sheet 23340
Data sheet 24751
Data sheet 22058
Data sheet 22075
Data sheet 22049
Data sheet 22045
Data sheet 48042
Data sheet 48050
Data sheet 90220
Data sheet 08012
Data sheet 09836
Data sheet 07600-B
www.boschrexroth.com/filter

RE 21010, edition: 2017-05, Bosch Rexroth AG



102/102 LC; LFA | 2-way cartridge valve

Notes

Bosch Rexroth AG

Hydraulics

Zum EisengieBer 1

97816 Lohr am Main, Germany
Phone +49 (0) 93 52/18-0
documentation@boschrexroth.de
www.boschrexroth.de

Bosch Rexroth AG, RE 21010, edition: 2017-05

© This document, as well as the data, specifications and other information set
forth in it, are the exclusive property of Bosch Rexroth AG. It may not be
reproduced or given to third parties without its consent.

The data specified above only serve to describe the product. No statements
concerning a certain condition or suitability for a certain application can be
derived from our information. The information given does not release the user
from the obligation of own judgment and verification. It must be remembered
that our products are subject to a natural process of wear and aging.



Notes

Bosch Rexroth AG

Hydraulics

Zum EisengieBer 1

97816 Lohr am Main, Germany
Phone +49 (0) 93 52/18-0
documentation@boschrexroth.de
www.boschrexroth.de

2-way cartridge valve | LC; LFA

© This document, as well as the data, specifications and other information set
forth in it, are the exclusive property of Bosch Rexroth AG. It may not be
reproduced or given to third parties without its consent.

The data specified above only serve to describe the product. No statements
concerning a certain condition or suitability for a certain application can be
derived from our information. The information given does not release the user
from the obligation of own judgment and verification. It must be remembered
that our products are subject to a natural process of wear and aging.

RE 21010, edition: 2017-05, Bosch Rexroth AG



LC; LFA | 2-way cartridge valve

Notes

Bosch Rexroth AG

Hydraulics

Zum EisengieBer 1

97816 Lohr am Main, Germany
Phone +49 (0) 93 52/18-0
documentation@boschrexroth.de
www.boschrexroth.de

Bosch Rexroth AG, RE 21010, edition: 2017-05

© This document, as well as the data, specifications and other information set
forth in it, are the exclusive property of Bosch Rexroth AG. It may not be
reproduced or given to third parties without its consent.

The data specified above only serve to describe the product. No statements
concerning a certain condition or suitability for a certain application can be
derived from our information. The information given does not release the user
from the obligation of own judgment and verification. It must be remembered
that our products are subject to a natural process of wear and aging.



